
�����������	�
����


��������

����������
����������� 
���!�����

∀��#��∃������

%��&��������


�∋(��)�
∗�����∃+����� �),��−�� ���#�����#�.����#�

����������!!!/
�∋(����∃0���/#�

�&�������)�1
�∋(����∃0���/#�


����∃����&���0�����∃0�����/�∗/

��.2�3��&���∃∃�&

����������	
��


���
�����������		���
���

�����
���
�����


��
����
�������

���
�����
�
�
��������
��������	
��

�
���������������



 �����������
!	�
����
���	��
∀��
�����
����


#	�����������
∃%
%∃&�∋
∀���������

���%2���4

(
�
���
��������
��
�
�

 ���
)�	∗�
���
���+���

,����
���������
�
�

���∗��������

�
�
�
����

)�
����
�
����
−����

������
�
��
����
��


�������
.������������

�

)	����
��
����/
��

���

∗
�	�
0���+�	
���

#���������
���	����

�������
)��+�
	������

�������
�
��
�
�
1
	����

���
!)2
���

)��������	
�����


3
�
�����4��
∗
��
����

����
���
��	
����/
�
�

�������
�	����5
���������
��
����	
��

�������
6��
�
�
�������

��
�������

7����∗���
�������

 �	���
∀��������


���+�����������#�� �

+�&���&&��)�∃��&��� ��5�&�4� ��)�����

�&�6/�
������������7���&,�+


−����∃���))�����#�)��� ���∃�����8�����9���

%��&�� ∀�∃ ∀��

�:/�3��;/�;/��� .�∃∃ ∗��∃���#∃���)�

��/�</�� ���&&��∃����&��������

�6/�</�� ��&&��)�∃�����7���&,�+ ����∃�∀� ����

�;/�</�� %� �∃��∃)�������=���∃�����∀��# 4�#!� �4�����

�:/�(��>/�</�� �������∃ ∗��∃���#∃���)�

��/�?/�� ���&&��∃����&��������

�� �∃� �>�%� ���,#)���8����� ����������∃∃�����0������∃�������

�6/�6/�� ���&&��∃����&��������

�</�6/�� ∗�����∃&��∃���∃���)� ∋���∃�����
��#�

�6/�6/�(�:/��/�� ����������∃������� �
��#�∃�� ����∃�∀� ����

:�/�6/�(�:/��/�� ���#����%��)��∃

�>/��/�� ���&&��∃����&��������

��/��/�� ����� �� ∃�8�������#�

����∃�0∃����∃∃)����

���+�����������#�� �

+�&���&&��)�∃��&��� ��5�&�4� ��)����

�&�6/�
������������7���&,�+



� �

��������	
���
�������
�

���������	
��
���������	����������

����	�����	����	����������������������	�

�	���	������������ �����������������

��������������	�����������	��	�
��

���������	����	�������!���
�	�������������

∀����
���	�#∃�	�%��	��
���

&��������	���	����
�∋�������(���)##∗�+�

)##,���	��	�−�����	���������)##,�+�.∃∃∗�

�������	�����(�	��������
	�/���

��
�
����������(�	�������0�%��	��
���������

&����������∀�����
�������	�������������

���������	�������������1������
�����	�����

������������������������������
��������	�

∋����	�∋����	�∀	����������	�������������

(�	�����������	����	������
��������

���������	�����������(�	����∋����
���

������������
�������������������	����	�

����������	��∋������∀���
�����
���

��	����	�������	������������������������

(�	��������	���	��������

2����	�������3�����	���
�����	���	�

���	�����
����∋���4∀�����5�
�	�	6



� �

�������
�	��
�����
�����������������

	
������
�����������
��


7�	��	�����∀�����	������%��	���������������

������(�	�������
�����	���������&���8���������

��		�������5����	��������9:�	∋8���
����

:������
�
��	��������	�����	��������


������/�3���������������−������
������
����

;8����������∋<����3���������
�
�����������������

��	
��

−�	
�	����
���������������	�������	����������

=��������	����		������������������

�����	���������8�	���	����∀����	
������

��	���������	���������2����8���
3�∋�����

5��∋������������3�����������������

5�����	� ����������������
��������	��	��∋��

7��	����������>���	3���∋�3����������	������

�����	��������������(�	� 	�����	������������

∋�������∀�
�����	�
���∀��� 	�����

����8��	�����
��=���	�����	�����	����������	�

2�����∀���3�����	�&���8����3����	����������	���	�

	�����1�	���������	�
����������������������	���

������	����3�����������	�����	��:�����


�����������������	�∋����������3�∋������


���������������	���������
��������	����������

���������=��	����������������?��������8��	�

�	����
�����	��	�������������	�2���������	���

��	�
�������������
��
�����	���������	������

���������>���
����������3�������������

=��	�8���
��������3���	��������������	��∋���

≅�������������1�	�������
���������3�∋������	�

������
���������3�∋ �8���3����������������������

5���������
��
��������������∀��������������

≅���
�����3��������
�
���������������	��	�������

���������
��������	��∋�������������	�����

����∀����3����������������3�
��
����������
������

����=��	�3��	���������������	����������

���������		��������
��!��
���1�	������3����3�

��	���������∀�����∋�������������������

2�������������	�����/����

��	���	���	�����2�������	������3�����������

���
��!��

����������������−�������	�

�	�<
��������1�	���������	����	�Α)∃∃�����	�

����3���	�����∋�����������∗∃�����������Α∃∃∃�

����	
	��
����	����

∀������3�∀��������≅����	���������������	����

�����	����?��������
�
���������	
���	������/�

�����	���3��������	�5����∋�������������

=����������������������������	���=��	�������

���<
���������������&��������	������������

�����	�����=��	�����	���?����������	��3�

���>���
��3��������������
���������	�

��
��
��3���	�������������������
�����
�
���

)Β���	���������	�5������
�	������	�����

��	��������������:���������	��������������

∀�������
����������	������	����	��∋�

��������

∀�����
�������2�������	���������
�
���)0���	�

����������	����������	���������������
��

%������������
��������������	�������	�

8�	�<��������∀��������������	��∋�	���	��
3�

�<����
����������=�	��∋��∋�������	��


��	������+������
��
�������∀�����	�Χ

4��D����������Ε�∀�������−�����	
�	6

−���������	���������
���!��
��



� �

�������
�
�����������������

�������
��������
�
������

�����
�
� �!���
����∀��#�
#
�

=�	��������=������������	∋�	�5�����������

=�����
�������������!���
������<
������

(��������
��&���������	���������
���	�������

Φ���	�����	���3��������
�	�����������!���
���

����8	����	������������∀����
�
�����	�����

����	���5�	�����������	���3���	�	<�����������

& ��������=�����
����������������������	��

�����
��
����

∀��=�����
3������������5����	�����+�&����

�������∋�9��������������
��
���
���

&��������	�����
�����	��������	�
���	������

Φ���	�����	������������	�����������7�������	�


���=����88�	��
���������	������������	�

�<���
�∋�������∀���������5�	��	�������	�

!��
���������Γ�	���������	���	��������

���������	�����& �������	�∀��	�����
3�

∀��������
�������������������	�!���
�	���

?���	�����∋������������!���
���������
��∋�	
��

����	�����∋����
�	�∀�������
����	�!��∋�


����
�����	�����∋�	
��!��
����������������	��

2�����
��������8	�������
	�/���	���������

������
�����	��
���������=����88�	8��������

����!��
���	�	���������(�	����∋����
���

�	��������������	�����	�
��Φ���	�������������


����
����(�	���������
�

∀������	���������������5������	��������


���	
���

��	�&��������	���	�����������������&	��������

&��	 �∋�������������	�����5���∋����	
�	����

���:����������������	
����������	����������

���	�
�����.∗∃���	���

4��D����������Ε�∀�����5�
�	�	6

5�	��	�=�����
�	�����!��

���	�����Γ�	������	∋� 	������

=��	�������

���������������=��	������	�����=����88�	�	���������������=����



� �

��	
���������∋�����������&=1Χ

����	�����������
�����	

∃�#����%���
����
��

�������������������������	�������%��	���&��������	�����
�	�����

���������	�	����.∃∃�!��
��
������������������������������
��

����
�!��
�	���	��
������������	��������������	�������������

∀�����	��������������������Φ��∀8	���.∃))���������	�����

=����	������	�����
���������������	3�������
�	�������=∀��
����
���

������	������������������	�� �������=�����������������

��	�������

�������2������
����

�����������	��������������	�����������

�������
���������=���	�������
��������=����	���������

−�����������������������������������	��	�=8�	���	��7�	�7����������

�	�����������������
��	�����
���������	�������3������
������������

����=�
��	�Η�����	��
��	�=������4::291�������&3�)∗∃���

=�
�����
3�Α∃�������6����������������������
3�����=8�/����

!���
���������
����	���	������	��������	��������������
�	�������

�����	���8����	��������	�1;.9=����	�∋��

4��D����������Ε��������−�88������	6

&��
�%����
��∋
����∀
�

Φ�������������.∃∃,�∀9=�������������������	��9=�������

∀�������������	����������������������������
��3�

����
�����	����� ���
��������−������
���

?�����!�������������	���
��<	�������&	����� �����

����	������������
���������2������
�9

����� ���
��
����=8�	�������∀�������������������

∋����3���/�	����<���!��
��
���	�������

������	����� 	���������������	���	�������

4���������6���8
���������

4��D����������Ε�%����−�����	6

���������
(�

��������
����5����������88�����������	�=�
������������

(�	�������
������	���	������������5������������

�����88���������∋���∋�
���5�	���������������	���∋����

���	
��
������∀	
��������������%��	���������	�����

�����	���
������������=�
��∋����������������	��������

����=�
����������	����������
��8	��������

∀���������9&������������	�	������3���������

=8�∋�	�������	�	�∀�����	�������	 ���������	�����	��

��	���

4��D����������Ε�∀�������−�����	
�	6

�������−�88������	��

�����Ε�;���2�����������Χ



� �

5����������88�.)������.∃))

=��������

�������%��	����	������	�����	���

�	�������������5����������88��
�


�������������	�5�����9


�����������������&1�∀����	���

2�����������������

=����88
�� �������=���������

��	��������5����	���	�
��
�

8�������3��������)Α���	�
����
���

������ �
�	��!��
�������	������

1�	����������
������������;��	9�

��������	�����������������������

������	���������������<���

!��
���

����
����������=����88������&���������������������&1�∀����	������������.∃))������������ �	���5�	�

��	�����	�����������������8���
��3�����
	�/������������	�∀����	����������=����88��������
��������������

��������������	�!��
���	��������
��
���?��������
�������<������Γ��������������������<��	3��������	���	�

=����88��
3���	������
�����������&	�������������∀��∋���
������

4��D����������Ε�∀�������−�����	
�	6

∀��.)�∃∗�))���	���	�����> �	�
��&=9=����88��
������	�5��������=�������������������	���8����
����
���

5�������	���������������
�����������������=���	�����<���	������������∋�������5��������	�	��
����	���

=���	���������������������∀���������	�5�����������
����%��	�
�����������������5���������	8���
����

��
������������������	�∋����������
�����������	����∋������5��������	�	���∋��������������������	������

Φ���3��������	�����������	�5�����
����������������	�	�2��������	�−����
��������&1�∀����	����


��������������/��������������=����88��
����=�����������	�����	���∋<�����������∋�	
�	�∀�	��������

�&19(�	�������������!��	��	3�
�������Ι����ϑ�
���
�����������=�������	�8�	��∋�������∀����	��9−����
���

��������������
��	���5����	�����	����3��������	���������	��������������������
��
��3�)∃Κ���	�����

�	�������88�����.Κ���	�����!��
������88�
�	������=����88���	�����������
���∋<������

����5����	��	��	��
����	�
��3����������8��	��������������	�∋������������=������������	����������	�

&	������	�����
��������	� �∋������∀�� �
�	����	�����������1�	�������������	��&195��������∀���������

=����������:��∋���������))��	���	�������	��−����
�������2�����������������	���	�������&�� �����(���

����∋�����))�!���
�	���
����������2����������	�������,�!���
�	�������	�=����88���	�������������
��
�����
�

�<���
�	�����
�����������	����	���������������������∀����	��9!���
�	���	∋�������8�	��	�����������������

���	�������������
��
�����
�����	���	����2����
 ��������∋�����3���	��������������=��	�Λ����������
��

���������������������������Α�=��	�Λ�����
���
�3�������������������8 ����?��������
�� �
�	��!��
��


����
����1�	������������������������
�������������∋�������������������������Μ9����=��	��������� �
�	���

!��
������
����∀��∀�������	����������	�&	������
����
�����������=���∋����	
��	��������	��������<��	�

�����
�	�=�����
����=�����������������
���8�������������
��
��3��������	�����
�������=����88���	�Λ��

����8���������!��
����&��
��������	������∋�
��������	����&19−����
�����	�����∋����
�����∀������������

����
����������(�	���������
����=���������

���������	Ε

=�
��=����/��4Α�=��	��63�����	�����	�4Α63���	����−��	��4.63�����!�����	�4.63�1�	�������&	����4Μ63���������

���	4Α63��5�����	����4)63�%����−�����	�4.63�∀�������−� 4∃63�2�	�������	�4∃63�∀�����5�
�	�	�4∃6

4��D�Ε�∀�����5�
�	�	6

&������������������������������<����=����88��




� �

∀�����	�������=���������.)��9�.∗��∀8	���.∃))

�������	����������=�	<����+�(��������������������	�����	���
��

=�	��∋������
������
����������<�����
������	����1�	�������&	�����������	������������=������5���	���������

�����������������	��
�
�
������∀����3���	����3�1�	���������������	�&���8��������������
������������	�	�

∀�����	�������8�	�<�������������	∋����−������+�=����+�−��������	
������������	�����D����	������	���
�

���	�)∃∃�D�9:��∋����

����5����	���	���		����3���������������∀�	�����
���&������������������������������������	�������	���

���
����	��3�������������������������
�������	
������∋������������5����	���	���	��		�
���3�>������������


��
�������=���������	�������
�
�����������	�����8��	���� ���3���������������������	������	���	3������	�

������
�����	�����7�����!	��
Ε�ΝΒ�=������������	
������
���
�Ο��������	���3�������������
��������������

� ���������
����2�>�∋����������	��	���Ν�����	�������Ο�4∀����6�!��
�����
��
��������� ��
��

���������	��	���!��

�����3����������	����������	��������������	�������4��D����������Ε�∀�������−�����	
�	6

��	�:	 ������Ε�	������
��������� ����∋�����=�������

1�	�������&	���������=��	� !	�����
����=��������


	In dieser Ausgabe:
	Editorial
	Folie 1
	Folie 2
	Folie 3
	Folie 4
	Folie 5
	Folie 6

